SKILLS PROBLEM SOLVING

1 Solve the following equations using factorisation:
a x>+3x+2=0 b x>+ 5x+4=0 c X>’+7x+10=0 d X’-x-6=0
e x2-8x+15=0 f x2-9x+20=0 g x2-5x-6=0 h x2-4x-12=0

2 Solve the following equations using factorisation:
a x?=4x b x?=25x ¢ Ix?=6x d 5x%=30x

e 2x2+7x+3=0 f 622-7x-3=0 g 6x>-5x-6=0 h 4x2-16x+15=0

3 Solve the following equations:

a 3x2+5x=2 b 2x-3)=9 c (x=-7P=36 d 2x2=8 e 3x2
f (x-32=13 g Bx-1)2=11 h 5x2-10x2=-7+ x + x?
i 6x°-7=1lx j 4x?+ 17x=6x - 2x?

Problem-solving

<«xm-—»> T Divide the shape into two sections:

(x+3)m _l_

4 This shape has an area of 44 m”.
Find the value of x.
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® 5 Solve the equation 5x + 3 =+v3x+ 7.



